EXERCISES FOR CHAPTER 9





With Solutions

Exercise 1. Reformulation of an Equity Statement

The following is an incomplete statement of shareholders' equity (in millions of dollars).

	Balance, December 31, 1999
	473

	
	

	Net income
	?

	Common dividends
	?

	Preferred dividends
	(10)

	Issue of common stock
	152

	Unrealized loss on securities available for sale 
	(19)

	Foreign currency translation gain
	12

	
	

	Balance, December 31, 2000
	?



The firm had no net debt (a pure equity firm) and reported a net profit margin of 12½% of sales of $4,096 million in its 2000 income statement.  The firm also generated free cash flow of $76 million during 2000.

a)   Supply the missing numbers in the equity statement.

b) Reformulate the completed statement of shareholders' equity to identify comprehensive income for the common shareholders.

Reformulation of an Equity Statement: Solution

a)

Get net income from profit margin:


As profit margin = 12 ½%, net income = 4,096 x 0.125 = 512

Now get common dividends”


As there is no net debt, net dividends = free cash flow = 76


Dividends paid to common = 76 + 152 = 228   (net dividends + share repurchases)

Total to get ending book value:


Ending balance, 12/31/00 = 892

b)


Beginning balance, 12/31/99



473


Net transactions with shareholders



Common dividends

228



Share issues


(152)

(76)


Comprehensive Income



Net income


512



Unrealized loss

(19)



Translation gain

12



Preferred dividends

(10)

495

Ending balance, 12/31/00



892
----------------------------------------------------------------------------------------------------------

Exercise 2. Reformulation of an Equity Statement for Intel Corporation
The following is from the statement of shareholders’ equity for Intel Corporation for 2000 (in millions of dollars). Intel faces a 38% tax rate.


	Balance, December 25, 1999
	
	32,535

	Net income
	
	10,535

	Unrealized loss on available-for-sale securities
	
	(3,596)

	Issuance of shares through employee stock plans, net of tax benefit of $887 million
	
	1,684

	Reclassification of put warrant obligation
	
	130

	Amortization of unearned compensation
	
	26

	Conversion of subordinated notes to common stock (market value of stock was $350 million)
	
	207

	Repurchase of common stock
	
	(4,007)

	Cash dividends
	
	(470)

	Issuance of shares for acquisitions
	
	      278

	
	
	 37,322


Calculate comprehensive income to Intel’s shareholders for 2000, being sure to include any hidden dirty surplus expenses.

Intel Corporation: Solution
Net income




10,535

Unrealized loss



(3,596)

Loss on share issue to employees


Cost before tax 
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Tax


    887


(1,447)

Put warrant gain



    130

Loss on conversion of notes (350-207)
   (143)
       

Comprehensive income


   5,479
The loss from share issues to employees is the hidden loss.  It is calculated from the tax benefit: $2,334 million is the before-tax expense that results in a tax benefit of $887 million.

Note that the reclassification of the put warrant obligation is really a gain to shareholders (and part of comprehensive income): these warrants were not exercise by the other party, so Intel made a gain on the premium that was charged. 

------------------------------------------------------------------------------------------------------------

Exercise 3. Reformulation of Equity Statements (2)

The following is an incomplete statement of common shareholders' equity of a firm (in millions of dollars).

	Balance, December 31, 1999
	
	?

	
	
	

	Net income
	
	?

	Common Dividends
	
	(132)

	Preferred Dividends
	
	(30)

	Issue of common stock
	
	155

	Unrealized gain on securities held for sale
	
	13

	Foreign currency translation loss
	
	(9)

	
	
	

	Balance, December 31, 2000
	
	?


a) The market value of the equity was $4,500 million at December 31, 1999 and $5,580 million at December 31, 2000.  At both dates the equity traded at a premium of $2,100 million over the book of the common equity.  What was net income for the year 2000?

b) Fill out the missing numbers in the equity statement and reformulate it to identify comprehensive income for common shareholders for 2000.

c) With the numbers in this question, show that the following relation holds:


Stock Return = Comprehensive Income + Change in Premium

Reformulation of an Equity Statement (2): Solution
a)

Get the beginning and ending balances for the equity statement, then plug for net income.

Book value is market price less the premium.


Balance, December 31, 1999

4,500 – 2,100 = 2,400


Balance, December 31, 2000

5,580 – 2,100 = 3,480
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Note: Can also be solved from following relation:


Stock return = Comprehensive Income + Δ Premium 

Δ Premium = 0

(See part (c))

b)

Here is the reformulated statement of shareholders’ eauity:


Balance, December 31, 1999




2,400


Net transactions with shareholders



Issue of common stock

 155



Common dividend


(132)

     23


Comprehensive income



Net income



1,083



Unrealized gain


     13



Translation loss


     (9)



Preferred dividends


    (30)

1,057


Balance, December 31, 2000




3,480

c)


Stock Return 
= Δ Price + Net Dividend




= 5,580 – 4,500 + 132 –155




= 1,057

Stock Return = Comprehensive Income + Δ Premium



1,057 = 1,057 + 0

------------------------------------------------------------------------------------------------------------
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